HES A B HE A ] o EARR 522 T4 4 FH05403 1 22

FHEOAF | EMOAKLZAET 5. WHIbsSnsEHS< D (HLGHE)
RHROWIRE | S0 44EE  ~ B0 SRE  (4EH) ALY e R O% Y O

x| R

Ao HAR | RMH Tk oIt L ich S, Za - RO THEAIVWELOERE] (ZhT, BAREEN - EH5DIZRYMA TN,
PLEBTES T AO=— 2RI L7c, %0 U T/ER LTS 5 2 EOHBRDEE NS D 24iET S & & biT,

AT AT 287 D TR TR B T 2 BT 57280, BB TR AE RS B R A0 |2 B AL R 7 B TR RE DIR BRI T L 0 |

T H o 2 b mf A AL 55,

SOEREHE (H58) | A (A+B+C+D) 10,958] A 10,958 B o| | o D] o]  EEEEROBESC, (A+B+C+D) ol %

MO HAE (ERAVIRED

AR HE RS D BLIUE R O AR

TE BFRER O T 3 f UFRE BB ) A ARE Ik F BRI

(H27 44))) (H314) (R5K)

1 itk B) Hul T N O A T4 181 TR %86, 1700/ A 425100, 000 A/ FIZHIIN S & 5,

(Lo b)) Hul PN O AT 181 T 8486, 1700/ H 225100, 000 A/ HIZEINEE 5, (N) 86170 A A 100000 A

2 (E B EOHEE) PO TN D A5, 400 ND F FHEFF S H 5,

(E B2 EOREE) b hiioEE AL %5, 409 A E F/HERF S TS, (N) 5409 A\ A 5409 A

3 (FifEtED 1 L) duLgiNIZ I8 1T D A4 O RN & 277, 903 N /47> 5120, 000 N /4EIZHIN S B 5,

(FIEYEO 8] |) b I 351 2 AREHERR OFITHE 277, 903 A /405120, 000 N /4RI EE 2, () 77903 A A 120000 A
5% R E R AT | — | Wi st | - | EEHvEran | - ez at] - [vkmnaim e an] — | wawetatEs st | - | aemeamoss | | emmons son

AR (R(R) PRGN D AL E T (TH[H)

1 EHEHKS 0 0000473292




A FEEp

¥ | Mgk | A [EK23 T PR P W LI HhREL HHENAE TRER A | BEFMEIM () PEEEE | BA  |Enmsesm
HpEE () | MR | MR | x4 | B - 7 ? (S 3055 (LR - miEss) W - <4 [Ro4 [Ro5 [R6 [RO7 [ROS | (HHF) | AL |HiEdkin
— RN FEf T H Z LI L SN R
fiii%&
{EBRET i 3 A16-001| =% —i% | R |MEE |ANIATECE | — — KTPEI 2 ERTHX s | R AT X | Rt | B | 10, 500 | 2. 04 —
AN B i BRIE T fifl. Tha
/LKA
A16-002| {5 —fk R | | R EES |- - ERAESYSEmFE (| Lo, A ER Eh H N 277 |2. 05 —
KT S ED H X )
A16-003| = —f%  |RWh |EEE (Rl — — FEARGH SRR S EE ([l —T % — el i [ | 27 —
K TFm M X))
A16-004|fF 5 i | R | MR | MSIATEAE | — - B« BoxE BV |H-FEi#HERAR XK | R H E 154 —
A BT Rt FE (KT |fll. Tha
AR RS 2 LW HX)
Nt | | | | 10, 958| |
it | | | | 10, 958| |
1 ZEFR S 0 0000473292




SAF G DEATIR DL

(Fpr : mA M)

RO4
fesr# (a) 2,183

E B ARG () 0

ZATEE (c=a+b) 2,183

RITAEFE D B O (d) 0
SHLERR (e) 2,096

VUEEE A (D 87

5 HAREH A (2) 0

RH#E (h = ctd-e-1) 0
REFHREEF+ATE (= (gth) /(c+d) % 0

REFHRA TR RN 0% 2B 2 TV D

B DOELA




